BBBBBBBB



........
e TwinSpin®
o (4

G series

G series

EXCELLENCE IN PERFORMANCE

SPINEA 17

vvvvvvvv



0%,

°
TwinSpin®
°

.....

Product characteristics

2.1 GSERIES

Advantages
« high tilting stiffness - reduced lost motion settings
- low friction - high torque overload capacity

- high precision output bearing
- high torque density

The G series a new generation of TwinSpin® high precision reduction gears with a new design of the main
bearing and improved performance for the most demanding applications. G series introduced the increase
in torque to weight ratio in comparison to the previous generation. Innovative design of main bearing resulted
in the unprecedented tilting stiffness, high precision of the output bearing, and modularity of design which allows
for customized solutions. Further improvements introduced with G series has yielded further friction reduction
in transmission mechanism, lower hysteresis and low settings of Lost Motion, especially in small sizes. Finally, new
sizes of reducers have been introduced with G series in standard and hollowshaft design to broaden the portfolio
and application range of TwinSpin® reducers.

Tab. 2.1a: G series features

Case Through holes in case

The shaft sealing / adapter flange is offered in the following versions:
a) motor connection flange

b) sealed input cover

c) without flange

Input flange connection

The input shaft is offered in the following versions:

Input shaft design a) shaft with keyway
b) based on special request

Installation and operation characteristics Wider range of modular configurations

18 ¢ SPINEA

BY TIMKEN



........
¢ TwinSpin®
[) (]

®oee® Ordering specifications

Tab. 21b: G series ordering specifications

G series

sececee
Xy
secscse

Shaft version
Name Size Ratio Series version

P (DIN 6885) S
75 41, 63,75 G 9 .
85 33,63,79 G 1 .
95 43,73, 95 G 14 .
15 43,69, 123 G 14 .

TS

135 35,97, 135 G 19 .
155 53,109, 133 G 19 .
185 57,67, 117,139 G 24 .
225 55, 69,137 G 24 .

Note: An example of ordering code of a modified TwinSpin® G series reduction gear with a motor flange:
TS225 - 55 -G- P24 - M235 - P231. The markings M235 and P231 for a specific modification are defined by the manufacturer.

Shaft version

a Shaft with a keyway a Special shaft

Note: Drawings show maximum possible size of key-way applicable in each size of TwinSpin® reducer.

¢) sSPINEA 19

BY TIMKEN



.. . . .
¢ TwinSpin®
o K
Technical data ®oe®
Tab. 2.1c: G series rating table
5 [
o S
g & 1S
. tg 7 . 3
o)
5 =3 97 3 g F 9
S 6 g £ - o} = @ -
3 s = 9 =3 ol 2 IS c
© 5 s e ® ol 5 £
c & Yo @ 2 = 6 o 3
o S QB E o o S = o s %
= o o9 355 = S o D = ]
9 - © % g £ o = S 9] > LS 3
83 S e 52 5 B 2 29 9
) o o >0 > 5 o > S T <o Z®
i T, [Nm] T,.. [Nm] T, INm] n, [rpm] n_.. [rem]l LM [arcmin] H [arcmin] ATE [arcsec] [Nm]
41 4800 015
TS 75 63 35 70 175 2 000 5000 <] <1 72 Ol
75 5400 Ol
33 4 400 0.25
TS 85 63 75 150 375 2 000 4800 <1 <] 72 0.2
79 5000 02
43 4 000 0.35
TS 95 73 85 170 425 2 000 4 500 <] <1 72 0.3
95 4800 0.3
43 4200 05
TS 115 69 173 346 865 2 000 4300 < <1 60 0.45
123 4800 04
35 3600 72 0.25
TS 135 97 250 625 1250 2 000 4200 < <1 42 on
135 4 500 -1 -0
53 3400 0.8
TS 155 109 460 1150 2 300 2 000 3800 < <1 40 0.6
133 4200 0.6
57 3500 14
TS 185 67 780 1950 3900 2 000 5700 <1 <1 30 14
n7 4300 12
139 4 400 12
55 3200 18
TS 225 69 1270 3175 6 350 2 000 3400 <l <] 30 15
137 4 000 14

RIGHT TO CHANGE WITHOUT PRIOR NOTICE RESERVED

1) Mean statistical value. For further information see chapter Torsion stiffness, Tilting stiffness.

2) Load at output speed 15 rpm and L, =12 000 hrs.

Moment M_value for F, = 0. If F, # O, see chapter 3.5.

Axial force F, _ value for M_= 0. If M_# O see chapter 35

The parameter depends on the high precision reduction gear version.

The parameter depends on the version of the high precision reduction gear, ratio and lost motion.

The parameter values are informative. Exact value depends on the specific version of the high precision reduction gear.

) Temperatures of the high precision reduction gear lower than 20°C will cause higher no-load starting or back driving torque.
) Instantaneous speed peak that may occur within the working cycle.

10) For more information please contact the SPINEA® sales department.

©CONO U s

20 ¢ SPINEA

BY TIMKEN



0%,

°
TwinSpin®
0

.....

Technical data

Tab. 2.1c: G series rating table - continued

w
D
(e0) —
g S = §
3 = ) o g g S
> 2 Z o 5 2 o
2 < £o P 5 5 5 T S
g = £ 2 £ € g & g
5 - o £ 2 o o o 5 =
5 2 E R 2 2 e 2 < 2
v 3 i gc g B : : : 3 =
o & > C 3 = 4 S < S < =
i [Nm] K, [Nm/arcmin] M, [Nm/arcmin] M_INm] M, . INm] F o [kN] F. o [KNT 110 kgm?]  m [kg]
41 5 81
TS 75 63 8 82 70 87 174 1.8 57 0.019 0.95
75 10 8.4
33 5 95
TS 85 63 15 10.8 90 168 336 32 102 0.034 1.7
79 20 10.8
43 20 15
TS 95 73 27 153 120 205 410 35 1.1 014 19
95 38 155
43 18 31
TS 115 69 30 31 220 280 560 4 125 0.29 32
123 42 32
35 10 42
TS 135 97 12 50 420 500 1000 58 181 0.67 47
135 -0 53
53 50 85
TS 155 109 80 88 900 820 1640 83 261 0.96 74
133 115 90
57 85 147
67 90 148
TS 185 17 120 150 1300 1700 3 400 13.9 43 1.98 12.8
139 135 152
55 60 258
TS 225 69 80 300 2 300 2190 4380 152 474 32 216
137 230 308

IMPORTANT NOTES:

Load values in the table are valid for the nominal life of L, ;=6 OO0 [Hrs].

High precision reduction gears are preferred for intermittent cycles (S3-S8); the output speed in applications is an inverted variable.
The continuous mode cycle (S1) should needed to be consulted with the manufacturer.

If the output speed in application is below than O rom please consult with the manufacturer.

The values in the table refer to nominal operating temperature.

Please note the temperature on the gear case that should not exceed 60°C.

The ratios highlighted in bold are recommended by SPINEA® as optimal versions in terms of price and delivery.

¢) sSPINEA 21

BY TIMKEN



.h
TwinSpin®
%000’

Drawings

TS75-i-G-P9

uonoalold

O

EW BN1d TI0

M3IA 301S LNdNI

EE

WIN 6L ©@nbuol bulusiybil ‘6'zL Is ‘SIN Ma4s Jo sodg| Yyim uoiiesado Ul paxiy g 1snw Bull Uiy |

(

900 4'9g@) 1o1awielp Bullll J0j SdURIS|0} PIPUSUIWIODSY
‘IONVTd dOLOWW ONITVIS 404 NOILVANIWINOD3A
9 S1 @nbojeied ul |lenuew Ajquuasse aas ‘aoeds pajeasun 'z

RIVA

9.)6Sr €

€10°0
€L0°0*

(405 JLH 66

(

BY TIMKEN

G'LX09 DNIJ-0 404 3A008D

\ 301S L1NdNI WOd4 d31V3ISNN

¢) SPINEA

(44Bua) Bury wwe) (2097 )1y £9¢

f—— |O™
ONId NIVA I W
o e Tt
Sla
TR 3,0 [
g 7 Cogy9g
e |z oSt =3
|21 < = TN
SZz|s 0 I — N Y NS
3= ol Ws 1 Lol =22
- |Z |2 o 3 |eb|n
e R - N RS Q= |
- | © Na) N
2 |= -
= =
S S |
S |2 : >
- 77
It 5 S
75 It
S
6 V-V
715

od-95-1-94S1

22



........
:. Twin.Spin®
% eeo®

Drawings

TS 85-i1-G-PI1

INPUT SIDE VIEW

TS85-i-G-PI1l

8xM2.5V 4-6

14x25.72°

1LxM5V 8-10

L
|
L
(ytbuay Buryy) wwg) (SEOA(?’)M 880
J
(43LIWVIT ONILLIS ON) 38 L8 E 3 =
(8 )y 159 = o =
- 0 = 5
(\EGEO'%*)QH LED ¢ f
A 21 :O =) ’X = =
I ; I
< i .
~
= | ‘ |
o~ : ‘ i
2ol 1 il | |
- Nat b F\_ ‘ 2
‘ \
N | =
=1 A4 5
F’ o O
(Np} u_; - -
(0o JuH 1L S T7e 2
2 e mg :
- &
O [N
(c08+ )LH €998 N
AR g
[ag
()

(UIbua) Buly ww 9) (07 )Lu S 7L

PN H1( 308

UNSEALED FROM INPUT SIDE /

12.8°%"

(@58 Josr o

Main ring must be fixed in operation with 18pcs of screw M4, st 12.9, tightening torque 4.3 Nm

2. Unsealed space, see assembly manual in catalogue TS G

1.

O

Projection

RECOMMENDATION FOR SEALING MOTOR FLANGE:

)

0.03
0.06

Recommended tolerance for fitting diameter (p63

¢) SPINEA

BY TIMKEN

23

G series




..
Twin.Spin®

TS95-i-G-Pl4

Drawings

uonaefoid (395 1L9) 1038WEIP Bulily 10§ ©2URIS|0] PEPUBUIWIODSY
@ U ‘AONVTd dOLOW ONITVIS 404 NOILVANININOD3IY

9 S1 enbojeied Ul [enuew Ajquuasse 99s ‘aoeds pajeasun -
WIN g% anbuol Bulusiybiy ‘6'ZL IS ‘7N Ma1ds Jo sodg| Yiim uojresado Ul paxij 89 3snwi Buld uleiy

€W onid 110 7
] LE 7 v
_» D\Q , o
] pey
(oD JLH 7.2 %
4
q
ZX0L ON19-0 904 JA0080
ONTS NIV o/ 3015 INANT WOFS I TVISNM
N S
— b U
ISYEY L0 )
% Ns) 00 o
= Q <
z|& o T8N >
=N 2, =
So |7 I 8¢ So
g |22 |10 il _ Sl e
HEEE 2215
2R HHEe—— | BRLEE
- |z |60 [°2 [ bolod [bo | =
= |28 3 g 2 | =
2 |5 3 2
= |3 - =
= ~ B OM ﬁ
<o *. I
5 g gL L
oEe
<ES
: V-V
7765

M3IA 301S LNdNI

o 7ld-9-1-G6S1L

BY TIMKEN

¢) SPINEA

24



S91495 0
m 3 uonssfoid (299 Z069) 1219Welp BUINL 10} 82UBIS|0) PIPUSILIODSY
M aB @ U m ‘AONVTd dOLOW ONITVIS 404 NOILVANININOD3IY
s | —a 9 S1 enbojeied Ul [enuew Ajquuasse 99s ‘aoeds pajeasun -
D n_u | WIN ¢ anbuol Buiusiybil ‘6'ZL IS ‘7N Ma1ds Jo sodg| Yyiim uojresado Ul paxij 89 3snwi Buld uley
|
LN
n » i)
= n
|
SW 9Nd 7
| ul
2
(ai08: JH 1 =~
9 Ea
S'LX%6 ONIY-0 d04 3JA00dD
ONTY NIV =
@h J‘.Tm = \ 301S LNdNI Wod4d d31v3ISNN
S ] L7 !
o e 8
SN 10
LES sloT2 7] s
®ecee® 3 W . ﬂﬂ =
b v
aEEN v 7S =
Lol2° Lo 8¢ N
.% = JM, %/ v 7 w/ m/ QU %
D Bl [ _ SN g
Sl—-|z|l== 4t & Pl
32 1 I =t
|zl |°2 F e S R .
= |9 |2 1 = =
“lo | — 5 -
3|z w 2
=eeei—1 6-L A GWXBL
<3 9°G
g9 r “ITeT T
43 <\< oowx 8v
86
M3IA 301S LNdNI T
o 7ld-9-1-GlLSL

25

BY TIMKEN

¢) SPINEA




®
£
Y
( ] [ )
A
O F S
(Y 14
%2}
(@)}
£
P
©
a

TS135-i-G-P19

uonoalold

O

-/ 7op

S ONTd 10 r/ D\Q

< M3IA 30IS LNdNI

J-]

ONTE NIV N

209.501Y) 1@12Welp Buillly J0j 80UBIS|0} PEPUBSLILIOISY

‘IONVTd HOLOW ONITVIS dO4 NOILVANIWINODTY

9 sl @nbojeied ul [enuew Alquuasse aas ‘adeds pajeasun -

WIN #%'8 enbuol bulusiybi ‘6'ZL IS ‘SN MaI2s Jo sodg| Yiim uolresado Ul paxly 89 1snw Bull ulen

.81z

92 )6sr 9

SL0°0
S0 0+

(1208 JLH 6L

(

¢X0LL ONId-0 404 3A0049

301S LNdNT WOd4 Q31V3SNN
S'L \\

// s 9
S S [
8 le ] )
& |3 \ B
(A o =
N S 0t So
a° = MW ASS IS8 MW tre
=~ |5 |2 |3 313 Ay
(7|3 |z 2= |s
S =122 e -—" 2|25 |3
SR e N So oo | |3
- = | [°2 > (€2 .
N A = =
Sle ™ ~| |2
3 |z =
— | = ﬁ?q —
7 | & 8 2
3 |+ =1
8 |= a
3|2 Ej
o2z 277 ZL=GX9NX Gl
S0 A.L 8 8|
7L Lorxev
779E Vv
7729
6069

old-9-1-92lS1

BY TIMKEN

¢) SPINEA

26



S2149s5 b
% .O|J uonoalold
£ o
M I
o9
i
LN
L
2]
T
®
£
a
oe
S5
oS F S
0g0®

M3IA 301S LNdNI

d-9

(299 ¢z19) J@12Welp Buinly Joj 80UBIS|0} PEPUSLUILIOISY

‘IONVI4 HOLOW ONITVIS dO4 NOILVANININODTY

9 sl @nbojeied ul [enuew Alquiasse aas ‘aoeds pajeasun -

WIN '8 anbuiol buluayybil ‘6z IS ‘SN M3IDSs JO sOA8Z UM uoiesado Ul paxiy 99 1snud Bul ulen

STy

Qv3gy AJ8W3SSYS
- 0BL/Gpyx

A\ \\\\\\\\\\\‘

9%

Ry

ANRANY, .\\\\\\\\
[ ]
LAY iwuwivwy

[ 1
]
2z

J6sr 9

S10°0-
SL0°0*

(

ONTI NIVH 2 301S INdNT WOZ4 03 1¥3SNN
N\ =
— 5
) — ‘
Sl S 2
oG ° &
-9
\M% 70 (69) \W/
E Y S wle| g0
—|©|3|8 SIS |el—
ol Rl ey | = o=
SISt o o S =500
5 |2 |solos ] Sol”oloo| 3
= |5 > N > oD .
el g N 2|12 =
Tlo[— IS -
2|z 3 3
= —
5] o W 5
2|2 g E;
S LI-EL A BWXEL
5’0 60l
81 %o §g[or oT 07*8
9
49
6778 V-V

old-9-1-991S1L

27

BY TIMKEN

¢) SPINEA



uonosfold (290" 4/4|@) Jo32WIElP BUIIY 10} 9OURIS|0} POPUSILLODSY

¢00-
@ U ‘IONV14 HOLOW ONITVIS dO4 NOILLYANIWNODIY
H 9 S1 enbojeied Ul [enuew Ajquuasse 99s ‘aoeds psjeasun -
ﬁll c:zim:ggmc_cwEm:\m.N:m@_z>>w\_umu_0muQ0msu_ico_pm_mo_oc__owxcmnpmsrcmc:c_m_z

6Sr 8

(200 )LH 128 Ll

o
)

8L0°0
8L0°0+

(

v

—_—, O@Mr

“odlXog

¢X0SL ONId-0 d04 JA004D

®
C
g e _— [ 301S INdNT WOg3 Q313NN
oo,m.o . W
d 2 ; e 8.5
] o N _ ,
oo ] oo \
(Y 14 ‘ﬁ
1SS °
a | 2 X W
“13 v il N
I | S 88 =
T |So | _ =t
5o |2 SEL o
S 2% ISHIISE 2
SI25IE B (8T
I L i S 212 |3
REL N I | | e — HEEE
= 3°°2 el i Y
o Y s o =
e QU - =
s - NS m
Sz Tocy o 3
2 lE| 5 B
2|3 = s
< % I
8
_ =T L]
9 oror IR
_ 0
n €5
5 | v MIIA 301S LNNI 6758 V-V
4 geol
[
B H-H
M |
pa S ~ ~ ~
DT 7d -9 -1-G81S1

—

BY TIMKEN

¢) SPINEA

28




Drawings

..
pin®

000¢
TwinS
°

TS 225-i-G-P24

Sa1425 b

uonoalold

@

LXOLW BN7d 110

[¥7)
'
I

6-LATWX 8

~ ]

M3IA 30IS LNdNI

Z
H-H

@ww¢.h¢_svhmuwrcm__omc_ﬁc\_ommucm‘_m_ou_om_ocwrcrcoumw_
‘IONVTd JOLOW ONITVIS 404 NOILVANIWINOD3d
9 S1 enbojeled Ul [enuewd Ajquuasse aas ‘@oeds pajeasun

WIN S¢ @nbuol buiusiybil ‘6'ZL s ‘GIN Ma4s Jo sod+zZ Yiim uojresado Ul paxij 89 3snwi Buld uley

9ELz

\\‘\\\\\\\\\\\\\‘

658998

v B (oS )LH 128
X=X LSl
INTd NIVW X081 ONT3-0 d04 3A0080
16 ¢ \\ 3015 SIHL WOS3 O3 TVISNN
B pe————— tw% = @\%\\H = A/A@///
L Ri=5 @ S
P VS|
= ﬁ % " ®
(= e — 4
2 ,\A 8 D0V Og &
m g S 7 S~ ‘e
5 s au i 3 /
7 |® ' <6 =
= |5 3
g lze T s
REREEG oz Mw -
52121 Hie—F—————t e N e 1
52 o | R ol
= o &2 2 2 e
EllE N 3
e N —
T |z i e
S |= - a
= T0g =3 =
= 0 A -
A~~~ T
SO | . l O1-2L AGWKZE
. R4 o ol “ o
79 V-V
67000
oLl

7ld -9 -1-9dCS1

29

BY TIMKEN

¢) SPINEA



Drawings

........
3. Twin.Spin®
% eeo®

TS75-i-G-P9

SEALED
= e
S =
o a
= =
S <
=
g I\
&
-
(=
=
(uibuey Burtiy wwL'e) (U9 )L SL
o~ ()
(43LINVIQ ONILLI ON) 38 9L =
(99 )ou 97 =
(oo JH 0E@ | 20 =
o % w20 o
I el o A o
I
1
1 1
|
o A |
| ! !
o~ 9 m'I l ‘ |
ol R ‘me T f ! ‘
i | 7/ -
g | ! | =
Sl || PR S
I i N E
= (403 )LH 62 o 7% g
e =
- (G ETReN S &
- RAT” w
=
(U1bua) Buiiy wwe) (0 )Ly £9¢8 3
&
DO
am}
>
\@

1S75-1-G-P9

SEALED

(B39 Jesr €

12xM5V¥ 7-9

Projection

@

Main ring must be fixed in operation with 18pcs of screw M3, st 12.9, tightening torque 1.9 Nm

1.

eeeeee



........
¢ TwinSpin®
[) (]

®eqe0® Drawings

INPUT SIDE VIEW

C-C

TS85-i-G-PIl

SEALED

G series

OIL PLUG M3
Cj©

Projection

S

w

S

N

]
[y =
(uibua Buryy wwg) (SU) U g8 - £
0" S
(4ILIAVIQ ONILLIS ON) “$78'L8%D >
a
(U)LY 15 =

leoeJot L6061 |
e N e}
S I NI

31.4

5.5
os

o ‘

60.2

|
\
|
|
|
|
|
\
|
H

A-A

TS 85-1-G - PI1

SEALED

25.9

-RING 68x1.5 / MAIN RING

(oi0:0e JLH L1
YL
(Uibusy Bup ww 9) (FU97)Lu S ZL

GROOVE FOR O

@11 H7(*8'018)

1x25.72°
12.879"

[af)]

—
mM

|
|
==

(@58 Josr v

14 xM5V 8-10
Main ring must be fixed in operation with 18pcs of screw M4, st 12.9, tightening torque 4.3 Nm

1.

¢) SPINEA 3

BY TIMKEN



..
Twin.Spin®

TS95-i-G-Pl4

Drawings
SEALED

uonoafoid u/J WIN ¢+ anbioy Bulueybiz ‘621 3s “vIN Ma4Ds Jo sodg| Yy3m uolesado ul paxy aq isnw Bul ulely -

Lo EoL

90651 S

(o100 JLH LB

o~
G070~
G070

T
(

ONTS NIV ¢X0L BNId-0 d04 JA004Y
L0
28—t . s
G| R 2, % “w 76y @
W mvo ombzr 8¢ W
L lsls
SO | ° n 2 QA ﬁ)\
SHEIEREIE ¢ | EEE—m———— REERE
= | = |92 |78 P2 =
= M 2 |5 hSY =
212 = = 3
= 8t . -
a | - a
ERES °3 Ej
SW 9N1d 110 _ JE— (— E
- 9 g g : :
< 0
M3IIA 3AIS LNdNI aeE <\<
_ 519
J-J

Q3vas
7ld-95-1-G6 S1L

BY TIMKEN

¢) SPINEA

32



[%2]
(o))
£
ps
o
O
]
£
vy
o e
S5
o - s
..0...

SEALED

TSN5-i-G-Pl4

Sa1425 b

uonoalold u \

M3IA 301S LNdNI

J-)

WIN g% anbuol Buiusiybiy ‘6'ZL IS ‘7N Ma1ds Jo sodg| yiim uojresado Ul paxij 89 3snwi Buld uley

S'LX16 ONIJ-0 d04 JA004D

ONIS NIVI
L0 K=
1 1
Qla] XL
F2| 1ot
= () 0
M,.L 3. ~\ 969
=03 | TO o
A BNESEY | | I
oS53 w
758 Hir==——=
EN =l NN
~l=zle |°2
N N N ]
Sle
== 1)
o | o0y \
— 0
S |5 El
2 1 1 o5
0|75

5966
(U1bua) Bupiiyy wweg) (S99 )Ly 0oL

L'0-
0

S0

59 L

v-v

rRar

Josr g

§l0'0-
SL0°0*

(

(b JLH g m

Q31v3s
7ld-9-1-GlLSL

33

BY TIMKEN

¢) SPINEA



0%,

[]

TwinSpin®
(J

oo®

Drawings %o

TS135-i-G-P19

SEALED

OIL PLUG M5

0IL PLUG M5

21.8%"

z
=
w
=]
A
=
I &
=
(ybua) Buiphy wwg) ("9 )Ly 961 E
=
(4313WV10 ONILLI4 ON) Y88 SELD =
(09 )eu o = 2,
N < - 2
= o (zo%)ﬁ‘H g ol °on =
1
o <=L J [
g7 | |
m — 0 | 1
o < NI | |
[l Q0O ) k"\
s | ~
| 3
B T ‘ O Nel :
<l A -
=
- (1200 JLH 6199 i
| (8 Jau o o
_ e
<t "rgaLg w
(Uibua1 Buiy wwg) (99 )Ly 9P S
&
al
| =
=
o
O g
I |
— . |
o~
I s - ‘ "
Ln D |
N W
— Saps :
< 5 —
)] L E (@08 6sr 9
2 G000
|— (V) =
o

@

Projection

Main ring must be fixed in operation with 18pcs of screw M5, st 12.9, tightening torque 8.4 Nm

1.

34 €) SPINEA

BY TIMKEN



........
¢ TwinSpin®
[) (]

®eqe0® Drawings

TS155-i-G-PI19

SEALED

G series

Projection

OIL PLUG M7x1

LxM6 V¥ 9-11.5

INPUT SIDE VIEW

[Ss)

(44bua) Bury wwsg) ("9 LY 9L =

(43LINVIQ ONILLI4 ON) Y§9 5o E

(7% )eu oL@ | % =

m‘l (cod JLH 080 eo| 24\
) I L O I =] |
4 1 | T4
AN ‘ ' €
N3 =

3 | | | z
<
o A 1 ‘ i oo]
3 o | iy _gg_ w S
o ! ‘ o
| [}
8
d | ] B )
| < £
| & 5
o ‘ o %
ge | o~ E (o]
- Y R ‘ g

o
<‘[ (zo3 )LH 618 o o
rres o o~
(00" )ou 0e = -
- (cod. JLH 089 % ,_:
RSN © §
(U1Bua) Buriyy wwol) ("997)u 9ELD o
?
-
19)
(@) 8
ol
— [
aR o
<
=)
| 2
[
= Re)
O &
| H g
i 5)
f— g ‘ k=
| | ) 3
So. x
[ haSS i &
Toln | - 8
LlJ +—
— = o é

i

W < S N o
L 2 (59 Jesr 9 £
—uw 3 :
g

1.

SPINEA 35

vvvvvv



WIN %] &nbuiol Buiualybil ‘6'ZL IS ‘9N M3Js Jo sOAOg Y3m uoiresado Ul paxij 89 Isnwi Buld uley

uonoalold u

Ve

6SI 8

L
(iz0-5+ JLH 128

[af}
QLO'O’)
8L0°0+

(

@
c
S ONTd NIVA ZX05L ONI9-0 904 3A0080
e
A e
(] [ J
oooTooo ‘ﬁ
( 1] ~ o c a
(8 7K ) =
@ | © \ N
> |3 5 98 =
3 =l 0 ~J
= - D77 =
50 |2° l bo
1z 122 Y =
— S |% |8 N ERY S
s|DE|ls HE———— (53525
EN = N o oo 2o |0 |3
= |5 P sl o™ & |=
S % I =
i S S N -
] p=]
2|3 E;
4 &
j :
|
O ZL=0L 2 gIXY SO o
2 vy
o | 6ES
c | 0, 6770l
£ | @8 — MIIA I0IS LNGNI da1v3as
(] —
S |23 o Y 7¢d -9 -1-G8LSL
Ol - _

BY TIMKEN

¢) SPINEA

36



Gee® Drawings

1S 225-1-G-P24

SEALED

TS 225-i-G-P24

SEALED

OIL PLUG M10x1
0IL PLUG M10x1
G series

O

Projection

LC

l

9]
N

N\

24x15°
25.5

INPUT SIDE VIEW

oS/

(uibua) Buyiy wwgzy) (M99 )y szz@

(43L3WVI0 ONILLIA ON) V922
(18 )Ly 99 B .

o (ol b 788 15| 'X‘
s IS

T > =

MAIN RING

N

4'4;\\\\\\\\\*\

AN
£

119.9

10

9

10

<
= ol

97.5

208 )k v2@
(ee03 )LH OLLD
"ezelg

(44bua) Burpy wwol) (P79°9)Ly £eL@

1.2

A-A

GROOVE FOR 0-RING 180x2

S
S
So
=
T
~
o an N
[¥a)
N = |
<
=
o
gl -
so
S
~
~
|
[af ]

199.)6Sr 8

Main ring must be fixed in operation with 24pcs of screw M6, st 12.9, tightening torque 14 Nm

1.

¢) SPINEA 37

BY TIMKEN



0%,
()
TwinSpin®
°
.....

Technical data

2.2 GH SERIES

ing tat

3 H
g £
8 & -
5 o 58 2 c 3
3 - | -3 ik o 2 3 9
IS = cC T 2 () ] 0 Kz} =
el I I 05 £~ g 5 c @
© ° = ©Z Tl o a 5 s
= @ o 25 Qc = £ < < =
o 2 v S €S g E 2 2 = “
9 [ = O © @ c = o
=] C o B > = S (o] R xe)
3] = ] go < © °5 @
S & 9 o] E & 9 £ Q S o o
$ 3 = £ 59 %0 g 5 = 2 35 9
= [0} c © L] 9 .5 © iy o} > c = o __
%2 a4 n o >0 > w© o > = T < o Z ©
i d To[INm] T __[Nm]l T [Nm] n, [rpm] n . [reml LM [arcmin] H[arcmin] ATE [arcsec]  [Nm]
TS 85 &7 21 41 82 205 2 000 2800 <1 <1 72 06
85 4500 0.4
55 2 500 0.6
TS5 35 130 260 650 2 000 <1 <1 60
123 3500 05
TS 125 29 32 180 450 900 2 000 2400 <1 <1 60 15
o 3800 13
TS 155 53 55 260 650 1300 2 000 2000 1 1 30 14
< <
109 3200 1
TS 245 51 70 1125 2 800 5600 1500 2100 <l <1 25 25
TS 285 55 90 1700 4250 8 500 1500 2300 1 1 50 68
< <
125 2500 58

RIGHT TO CHANGE WITHOUT PRIOR NOTICE RESERVED

1) Mean statistical value. For further information see chapter Torsional stiffness, Tilting stiffness.

) Load at output speed 15 rom and L, =12 000 hrs.

) Moment M_value for F, = 0. If F_ # O, see chapter 35.

) Axial force F, __ value for M_=0.If M_# O see chapter 35.

) The parameter depends on the high precision reduction gear version.

) The parameter depends on the version of the high precision reduction gear, ratio and lost motion.

) The parameter values are informative. Exact value depends on the specific version of the high precision reduction gear.

) Temperatures of the high precision reduction gear lower than 20°C will cause higher no-load starting or back driving torque.
) Instantaneous speed peak that may occur within the working cycle.

10) For more information please contact the SPINEA® sales department.

38 ¢ SPINEA

BY TIMKEN



0%,

°
TwinSpin®
0

.....

Technical data

G series

Tab. 2.2a: GH series rating table - continued

© S
y ~ :
: _ = " g g
> 2 Z o 5 2 8
g £ %) ' c £ o - —
= = &= @ v o o g =
° 5 == g £ £ e % g
5 2 @ = 2 o o o = —
4| E B B : g E E : p
o) o] . £
g 5 g5 £ g g g g 2 g
» & > © R = & < < < < =
i [Nm] k, [Nm/arcmin] M, [Nm/arcmin]  M_[Nm] M___[Nm]  F_[kN] F. o [KNT - 1[10% kgm?]  m [kg]
TS 85 o - o 85 15 230 2 0.4 029 13
85 36 9.7 ' : :
55 42 21
TS5 200 280 560 4 125 0.65 29
123 9l 25
TS 125 =9 40 28 280 445 890 5.7 177 1.06 37
99 95 29 : : ' '
TS 155 - — 10 o7 900 820 1640 8 26 5.6 6.9
109 69 ) ’
TS 245 51 160 285 4 000 2 600 5200 16 50 26 285
TS 285 — %60 405 6500 5670 11300 30 93 80 355
125 1200 460 b

IMPORTANT NOTES:

Load values in the table are valid for the nominal life of L, =6 000 [Hrs].

High precision reduction gears are preferred for intermittent cycles (S3-S8): the output speed in applications is an inverted variable
The continuous mode cycle (S1) should be consulted with the manufacturer.

If the output speed in application is below 0.1 rom please consult with the manufacturer.

The values in the table refer to nominal operating temperature.

Please note the temperature on the gear case that should not exceed 60°C.

The ratios highlighted in bold are recommended by SPINEA® as optimal versions in terms of price and delivery.

¢) sSPINEA 39

BY TIMKEN



Drawings

TwinSpin®

TS 85-i-GH-H21

MAIN RING

2
=
=
%
N —
Iz
M =
(uibua) Buppy wugty)  (997)LU 88
(9313WV10 ONTILd ON) 978
(28 )Lu 859
(08 )LH 210
- 207
=44 .
e T
K e E
A |
| ! ‘
M | |
S <N,
2 \
T2 I 3
? o~ ‘ E
Il
T
|
= ‘ ‘ ‘
]
|
- (o3 )LH 12D
| 120073/ 0D
_ %)
el

N
~O|
i
e
=]
=
S

TS 85-i-GH- H2T

(U1bua) Buliiy ww ) (0 ) €5l

SEALED FROM INPUT SIDE /

=360 ¢

18x20°

0IL PLUG M3

@

Projection

Main ring must be fixed in operation with 18pcs of screw M3, st 12.9, tightening torque 1.9 Nm

1.

¢) SPINEA

BY TIMKEN



Drawings

TSN5-i-GH-H35

B-B

INPUT SIDE VIEW

TS115-i-GH-H35

O

Projection

(uibus) Buryy ww 9) (SEO'g’)Lu QL@

(J3LINVIQ ONILLIS ON) MLl

9y LLp

El (EO'%*)L‘H @ = '7\

66

58

32.5

6.6.5

by

MAIN RING

02
<
O,

OIL PLUG M5x1

f=)
=4

A-A

18%20

18xM5V 8-10

(03 JLH SEQ
(%09 U 578

Y9907 66

(u1buay Buriy ww o) (%8997 )Lu ool

g",
[5a

SEALED FROM INPUT SIDE /

Main ring must be fixed in operation with 18pcs of screw M4, st 12.9, tightening torque 4.3 Nm

1.

¢) SPINEA 41

BY TIMKEN

G series




Drawings

........
3. Twin.Spin®
% eeo®

TS125-i1-GH-H32

z
=
s
=
>
e
=
o =
(Uibua1 Butiy ww £9) ("8 LU soLp
(43L3WYI0 ONILLI ON) VS 2L E
o [a4
(9708 )gu 08¢ 20° =
- <
- o3 ldH g o =
N ~ | ~
OL ~ ) =
o4 :
| | [l
% \
o NIR ! v
=1 | ‘ [ta]
E
| ‘ 5
~ TN \ o
X 4 = o
o O g
0 | ‘ O
|
1
S - !
i TZEN
)] (o
< |
:
< E (sz08. )LH 2E0
| ~ -
- (8 Jou evgp

TS125-1-GH-H32

18x207

18 xM6V 8-12

870l

(U1bus) Buttiy ww 8) (937 )Lu soLg

@

Projection

Main ring must be fixed in operation with 18pcs of screw M5, st 12.9, tightening torque 8.4 Nm

1.

eeeeee



........
¢ TwinSpin®
[) (]

®eqe0® Drawings

TS155-i-GH-H55

C-C

INPUT SIDE VIEW

TS155-i-GH - H55

Projection

71.5

o

18x20

(44bua Burjily wws's) ("9 )y 95LB o
=Z]
(43LINVIC ONILLIA ON) Y879 sagh o2
— =Z]
("% gy oL =
gl uﬁ‘_vl (sc00- JLH 06 _
‘ = ‘ =
of } [ :l: =
[Ss)
u‘j )
N \ [ =
et ! | | =
o
~ | ‘ | X
= AN - |
fo | ‘ =
o T U
] |
|
T
Al |
= |
T
S &
= = &
<C (94 z'ssg \\ o
| — =
< (%9 )eu 6°598 L&
T o @ |
rosed ' 72 g -
(U1Bua1 Buptry wwol) ("9 )Lu 9ELD S
= =
= o
[en)
= o
o o
[a'q
&
o
2
=
=5
w

18xM6V 10-14

Main ring must be fixed in operation with 28pcs of screw M5, st 12.9, tightening torque 8.4 Nm

1.

¢) SPINEA 43

BY TIMKEN

G series




o**%%
[]
TwinSpin®

Drawings

TS 245-i-GH-H70

uonoalold

O

WIN S¢ anbuol bulusiybil ‘6'ZL Is ‘QIN Ma42s Jo sod|Z Y3im uoiresado Ul paxij 89 3snw Buld ule|y -

-4 - 1414

301S LNdNT Wod4 031vi3s
ONTd NIV

G
bS N R
& = o
2 B =
|0 S
e Y 2
g B & |s S
— 5 |3 |3 49 38
S B R EtH———F+4 SRR
= : -y s 3
2B g |g E1 R R EE
= B B8 e R
s E 5
— — s —
z = EIC 3
= =
L
T

= ¢

wW S'SLLL Ll 4%

mw €99

= ) , oz

e V-V

3 748

OLH-HO-1-9%ZS1

@ BY TIMKEN

44



S.TwinSpin®

Drawings

TS 285-i-GH-H90

C-C

INPUT SIDE VIEW

0IL PLUG M5

1?»000

18xM12¥ 25-30

(44bua) Bury wwsy) (08 )4 sz
3LINVI0 ONTILId ON) 782
(2997 %8y 002
(105, )LH 0912
|
B \
[Ta) ! !
Sl |
s
| |
o =
o o
5 | s
[
[ T
in
A \
IS
B
<‘( = (se03: )LH 062
= (S8 )LU oLl

“ g

(wibus Bury wugl) (P09)0 g7z

L
=
)
—
=
o
=
=
=]
x|
ft
o
o
=
o
ol

MAIN RING

o
=
=
El
T
o

TS 285-i-GH-H90

0!

Projection

Main ring must be fixed in operation with 24pcs of screw M8, st 12.9, tightening torque 35 Nm

1.

vvvvvv

45

G series




